BID RESULTS CK09MERCER2019-14 INSTALLATION OF TRAFFIC SIGNAL UNDERGROUND AND ELECTRONICALLY OPERATED TRAFFIC CONTROL DEVICES AT VARIOUS LOCATIONS THROUGHOUT MERCER COUNTY

BID OPENING DATE: JUNE 11,2019							
AWARD TWO YEARS,L&M BOND AND MAINTENANCE BOND 5%							
NUMBER OF BIDDERS	1						
NAME OF BIDDER	ORCHARD HOLDINGS LLC						
ADDRESS	1913 ATLANTIC AVE, SUITE 193						
CITY, STATE, ZIP	MANASQUAN, NJ 08736						
CONTACT	FREDERICK J. KURFENS						
TELEPHONE	732 560 8200						
FAX	732 560 8030						
E-MAIL	FRED@OHELECTRICLLC.COM						
HOLD PRICING BEYOND 60 DAYS	YES						
EXTEND TO COOP	YES						
BID BOND AND CONSENT OF SURETY	NGM INSURANCE COMPANY 10% NOT 20K; LISA NOSAL AIF WITH POA						
BUSINESS REGISTRATION	ОК						
INSURANCE & INDEMNIFICATION REQUIREMENTS	SIGNED AND DATED						
PUBLIC WORKS CONTRACTOR REG.	648750 EXPIRES 12/29/20						
ELECTRICAL LICENSE	34EB00810200 EXPIRES 3/31/2021						
NJ DOT PREQUALIFICATION 7	YES, PER DOT LIST ID #06472						
DEBARRED	NO						
IRAN CERTIFICATION	SIGNED AND DATED						
REFERENCES	INCLUDED; GEORGE TO REVIEW						
INSURANCE CERT	REQUIRED IF AWARDED						
AA201 FORM	REQUIRED IF AWARDED						
EXHIBIT B	INCLUDED						
STATEMENT OF OWNERSHIP	SIGNED AND DATED						
SAFETY CERT	SIGNED AND DATED						
EQUIPMENT CERT	SIGNED AND DATED						
non-collusion affidavit	SIGNED AND DATED						
PREVAILING WAGE CERT	OK						
TOTAL	\$ 959,250.00						
exceptions	NONE						
FATAL FLAW	NO						

ITEM NUMBER	TRAFFIC SIGNAL DEVICES CK09MERCER2019- 14	UNITS	QUANTITY 0 UP TO	UI	NIT PRICE		TOTAL	
				ORCHARD			D HOLDINGS	
1	Foundation, Type SPF	Unit	10	\$	1,100.00	\$	11,000.00	
2	Foundation, Type SFT	Unit	20	\$	1,475.00	\$	29,500.00	
3	Foundation, Type SFK	Unit	20	\$	1,850.00	\$	37,000.00	
4	Foundation, Type STF	Unit	10	\$	4,900.00	\$	49,000.00	
5	Junction Box Foundation	Unit	5	\$	2,050.00	\$	10,250.00	
6	18" x 36" Junction Box	Unit	20	\$	850.00	\$	17,000.00	
7	Foundation, Type P-MC	Unit	5	\$	3,500.00	\$	17,500.00	
8	1-1/2" Rigid Metallic Conduit	LF	2500	\$	28.00	\$	70,000.00	
9	2" Rigid Metallic Conduit	LF	1000	\$	38.00	\$	38,000.00	
10	3" Rigid Metallic Conduit	LF	5000	\$	65.00	\$	325,000.00	
11	Driver Speed Feedback Signs-Solar Powered	Unit	10	\$	10,250.00	\$	102,500.00	
12	Rectangular Rapid Flashing Beacon Assembly-Solar Powered	Unit	10	\$	12,000.00	\$	120,000.00	
13	Rectangular Rapid Flashing Beacon Assembly-Powder Coated Black	Unit	10	\$	13,250.00	\$	132,500.00	
GRAND TOTAL							959,250.00	

BID RESULTS

CK09MERCER2019-06B CONCRETE FOR THE COUNTY OF MERCER AND THE MERCER COUNTY COOPERATIVE CONTRACT PURCHASING SYSTEM FOR A PERIOD OF ONE (1) YEAR WITH THE OPTION TO EXTEND ONE (1) YEAR BASED UPON THE INDEX RATE BID OPENING DATE: JUNE 14, 2019

DID OF ENTITO DATE: SOILE 14, 2017							
NO. OF RESPONDENTS:	1						
NAME OF RESPONDENT	MERSHON CONCRETE LLC						
ADDRESS	5251 RT. 130						
CITY, STATE, ZIP	BORDENTOWN, NJ 08505						
CONTACT	PATRICK T. GREBER						
TELEPHONE	609 298 2150						
FAX	609 298 7969						
E-MAIL	RDMIX@COMCAST.NET						
INSURANCE INDEMNIFICATION PAGE	SIGNED AND DATED						
INSURANCE REQUIRED FROM AWARDED VENDOR	INCLUDED						
STOCKHOLDER DISCLOSURE CERTIFICATE	SIGNED AND DATED						
BUSINESS REGISTRATION CERTIFICATE	OK						
ADDENDUM NO. ONE	INCLUDED						
EIC	8255 EXPIRES 05.15.26						
NON COLLUSION	SIGNED AND DATED						
IRAN CERTIFICATION	SIGNED AND DATED						
HOLD PRICING BEYOND 60 DAYS	YES						
EXTEND TO CO-OP	YES						
EXHIBIT A	INCLUDED						
EXCEPTIONS	COLORS RANGE FROM 4.46 LBS.						
EACEF HONS	TO 45.8 LBS. PER CUBIC YARD						
FATAL FLAW	NO						

CK09MERCER2019-06B CONCRETE FOR THE COUNTY OF MERCER AND THE MERCER COUNTY COOPERATIVE CONTRACT PURCHASING SYSTEM FOR A PERIOD OF ONE (1) YEAR WITH THE OPTION TO EXTEND ONE (1) YEAR BASED ON THE INDEX RATE

MERSHON CONCRETE LLC

CONCRETE DESCRIPTION	ESTIMATED QUANTITY	COST PER UNIT	TOTAL
			-
CONCRETE (LESS THAN FOUR CUBIC YARDS)			
CLASS A, AIR ENTRAINING, 4600 PSI, DELIVERED (COST PER CUBIC	110	¢105.00	¢00.050.00
YARD)	110	\$185.00	\$20,350.00
CLASS B, AIR ENTRAINING, 3700 PSI, DELIVERED (COST PER CUBIC	120	\$184.00	\$22,080,00
YARD)	120	\$104.00	Ψ22,000.00
UPCHARGE TO ADD FIBER (POUNDS)	110	\$6.50	\$715.00
UPCHARGE TO ADD COLORATION (POUNDS)	400	\$3.25	\$1,300.00
WATER REDUCING ADMIXTURE (GALLONS)	26	N/C	4
SUPER PLASTICIZER (GALLONS)	105	\$6.70	\$703.50
SET RETARDER (GALLONS)	32 300	\$3.50 \$6.00	\$112.00
4" DEPTH X 10' LONG, EXPANSION JOINT (EACH)	150		\$1,800.00
6" DEPTH X 10' LONG, EXPANSION JOINT (EACH) TOTAL	150	\$9.00	\$1,350.00 \$48.410.50
IOIAL			\$40,41U.5U
CONCRETE DELIVERED (GREATER THAN FOUR CUBIC YARDS)			
CLASS A, AIR ENTRAINING, 4600 PSI, DELIVERED (COST PER CUBIC			
YARD)	400	\$148.00	\$59,200.00
CLASS B, AIR ENTRAINING, 3700 PSI, DELIVERED (COST PER CUBIC	1070	#14400	#15/000 00
YARD) DOT: 800, BG: 120, AND PC: 150	1070	\$146.00	\$156,220.00
·			
UPCHARGE TO ADD FIBER (POUNDS)	400	\$6.50	\$2,600.00
UPCHARGE TO ADD COLORATION (POUNDS)	400	\$3.25	\$1,300.00
WATER REDUCING ADMIXTURE (GALLONS)	150	N/C	
SUPER PLASTICIZER (GALLONS)	599	\$6.70	\$4,013.30
SET RETARDER (GALLONS)	180	\$3.50	\$630.00
4" DEPTH X 10' LONG, EXPANSION JOINT (EACH)	200	\$6.00	\$1,200.00
6" DEPTH X 10' LONG, EXPANSION JOINT (EACH)	100	\$9.00	\$900.00
TOTAL			\$226,063.30
004175			A
GRAND TOTAL	\$274,473.80		
MISCELLANEOUS: % UP-CHARGE TO WHOLESALE FOR MATERIALS TH	100%		
AFTERHOURS OR SATURDAY DELIVERY CHARGE PER TRUCK		75.75	
*MOBILE MIX CONCRETE IS PERMITTED FOR DELIVERIES REQUIRING L			